R3

Gate

V=1xR RS
100
I=V/R Q2hase
> | =5/ (470 + 100) 100 Q3 E =V/R
o | =5/570 B R4 | =12/ (1k5 + 100)
S | =0.0088 ha | =12/1600
X | = 8.8mMA \ | = 0.0075
R1 BC557B C I'=7.5mA
P=VxV/R 1B
V2 P=5x5/(470 + 100) s P=VxV/R
L P =25/570 . P =12 x 12/ (1k5 + 100)
> P =0.044 470 = P = 144 / 1600
NS P = 44mW P =0.09
o\~ O P = 90mwW
O\ _-
2 ) PWM
R6 : R7 ZV/R
v Vi Ve | = (12 + 5) / (2k2 + 100)
N @ iy Q | =17 /2300
1 c | = 0.0073
- - _ 470 " 2k2) =7 3mA
\/3 ha Q4base
1 B \ P=VxV/R
R/ R2 BC5478| E R8 P = (12 +5) x (12 + 5) / (2k2 + 100547
= — P =289/ 2300
Q- P=0.13
) P = 130mW
100 100
1

| C1
1n

v

script SPICE directive | slice=10n end=50u

plots=PWM I(V_1Q2)*100 I(V_IQ4)*100 Gate



